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+5[750b
A \E\  E— A‘
[
+5,050 8 ° +5,050
g 2 L
AN NN - =%
\ <<
i
|
1
VETRACIA HLAVICA DN50 i
3 | 3
g ! £
o~ ; o~
3
f
~~~~~ ; %
‘V”‘;‘ A A A R A AR Y;WV\; A NS AAAAANA YA S A AN A A AR AR A
OO e e
+2 600 O A S SO O A l RIS +2 600
" ST S A T S N TTRIT
N4 N S T S =, — %
. N § +2 600! < < (<3 } I o
g +2,460 8 =4 =4 < [ 3
1© b ] N [ Irs)
< ~ S .
] I
] |
1 |
! I
] |
D
1 I
1 ]
Q =3 o } ; (=]
Q - Q [ Q
@ @ < [ @«
o [SURRIN N o [ N
8 o [
a 2 & L
= - |
1 1
[
® g
| ]
+0,000 .
3 0,170 o
; P X
-0,400 -0,350 | T ©
Yol
7 e @
— oo g
7 2 f S h
i 2 —— (i Y SNy " /7%
v = 7 7
7 o o /]
-1,370 Z =) sl -1,370 7 -1,370
7, , 7
x// _ / ~ N

1
|
i

|zemniaci pas FeZn 30/4 po obvode domu | | Zemniaci pas FeZn 30/4 po obvode domu |




